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Gé Reinders
Arr : Sandor Hendriks

- van het Album " Blaos mich nao hoes " - 

Violin II Blaosmeziek

2012-2013

Limburgs Symfonie Orkest

8

poco rit.
15

A tempo q = 66

22
poco rit. A tempo q = 66 molto rit.

A A tempo q = 66
30

36
B

41

C
46

50

54

rit.





 


p sost. legato e espress. sim.


sim.


p sim.

3

  Tba.   
 

 Hn.      

 
mf


f espress.

3 3


ff dim. meno cresc.


f espress.


ff

dim. meno cresc.


ff

 
free bowing

              

                    

                   

             
        

                                

  
                    

                              

                         

                               


   
           






Blaosmeziek Violin II


